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'(Honours/Regular)

Paper : COM—-HC- 3026/COM-RC-3026
(Income Tax Law and Practice)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

- Answer either in English or in Assamese.

1. Answer any seven of the following questions
as directed : 1x7=7

weT il PR #id fReieent Mot epsd TR
Ted &7l 8

(a) As per section 2(7), a person by whom
any tax or other sum of money is payable

under the Income Tax Act is known as
(Fill in the blank)
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4t 2(7) SPIE, WS Wiz SENe e
Jferm I SR S e o smE @ w5
IR (08T —— (BRI T | (a7 212 939 31)

(b) “Assessment Year” means the period
starting from 15! April and ending on

—— of the next year. (Fill in the blank)

DA =9 9 (= A PRt Gigs g s
SR WS 2 W 79| IR —— iR

% A | (i 3% 759 70
(c) Perquisites cannot be given in monetary
form. (State whether the

statement is true or false)

Sqa5e ASR4 (Perquisite) TR SLLHE
ot |1t AW (CfSer vF 7 Swm Gy 39)

(d) Income-tax is an annual tax on .
(Fill in the blank)

HIFY T —— I SATO WA 9 G0
IR 4| (T 12 959 3)

~(e) Residential status is determined with
reference to the individual’s physical
presence in India. (State whether the
statement is true or false)

IfEe o oReITe =RIRE ToifEfos fofe
R (Se3 IFTZA T Ffo Wl =1 = |

(Cfe&chr @ﬁmw@h—@zﬁww)
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(f) Agricultural land in a rural area in India
in excluded from the definition of

“Capital Assets”. (State whether the
statement is true or false)

ITeId© Al oo SRS R “Yegl
TIfe” &R 2 ARge |
' (Cfecor sa 7 & G 341)

(g) Section 10 of the Income Tax Act deals

with income. (Fill in the blank)
ST SBAE 10 4i¥ —— SRE 7570 Sios |

(3ife7 212 /39 F91)

(h) Income from the sale of a portion of
fixed assets is taxable under the head
- (Fill in the blank)

ﬁwwf‘@aﬁwmﬁﬁaﬁﬁmw#—
fAoie SE e I 2 | |
(JIifeT 312 239 )

(i) The year in which income is earned is
known as Assessment year and the year
in which it is taxable is known as
Previous year. (State whether the

statement is true or false)
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IR (A 27| (OfSh) &% (7 ST Grar< 39))

() Under the Income Tax Act, 1961, what
is the status of Gauhati University as
a Person’?

ST SN2, 1961 SPiE, Ul Zoite ezt
ifRmerae Tdwi & =2

(k) Tax Liability of an Assessee depends
upon his/her Residential status.

(State whether the
statement.is true or false)

T PR VG ¢ @1 ('€ AT AFA
o9 esite o3 I |
(Cfeol ©% (7 I%% G F41)

() Agricultural income is taxable under
section 10 (1) of the Income Tax Act,
1961. (State whether the

statement is true or false)

FRAGTO WY, SRS 2 1961-F 10(1) 4=
S FACAIS] 2T |

(Gf&chr & (@ S1oF G 39))
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2. Answer any four of the following questions :
2x4=8

mﬁmwwﬁmsﬁﬁa%@aﬁmg

(a) Explain the term ‘short term capital
gain’.

‘TR e o o it 1

(b) State the meaning of Assessment year
as per the Income Tax Act, 1961.

A W12, 1961 WA = fHefiadt 781 ol
forar |

(c) Explain the meanmg of long-term
capital gain.

T Jeree) Sraa o Ry 9 |

(d) State the meaning of ‘Uniform Previous
year’ as per the Income Tax Act, 1961.

A Sz, 1961 Soa! arawiot oﬁﬁ@”a’
w12l &1l |

(e) State the meaning of income.

oiEs o< forl |
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() Define “Person” as per Income Tax Act, .
1961.

HERT HizH, 1961 SER wfe et |

(g9 State the meaning of agricultural
income.

FRere s WY |

(h) Define ‘Assessee’ as per Income Tax Act,
1961.

S Si2d 1961 SR FHRAI) e’ FEE
IGRIN

3. Answer any three questions : 5x3=15

Rzl fofins ema Boa ft e

(@) Explain the steps involved in the
determination of ‘Gross Annual Value

of a House Property.
S ITifER o AT o Hdieel S AMCFAER
it FA |
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(b) From the following information of

Umacharan Pandey for the financial
year endedsoni3ilistEMarchf 20228

compute his taxable income for the
Assessment Year 2022-23:

(i) Umacharan Pandey is a resident
and ordinarily resident in India.

(i) He is a partner in a limited liability
partnership. His share of profit
from the firm is Rs. 14,00,000.

(i) He is a member of a Hindu
Undivided Family. His share
of profit from = the®* S HULSS'S
Rs. 7,00,000.

(iv) During the previous year,
Umacharan Pandey received a
scholarship of Rs. 80,000 from
Taxmann Education Society.

(v) He is employed by a company on
part time basis. Annual salary
(after standard deduction) is
Rs. 6,00,000.

(vi) Interest on Government securities
is Rs. 90,000.

(vir) He is eligible for a deduction of
Rs. 30,000 under section 80C.
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31 W6, 2022 ©If¥r SEeR Sifde IR
AR TABI ANST Tero WA OUEIST 244,
2022-23 39 FfRIN 91 IR 08I TN
oy fAefa <4t |

(i) TUHIY A0S GG AR SR LR
i = |
(i) S8 9GB! ARG Al TS| ST

SR | AfoDE o)l (96T Fied B
14,00,000 B |

(i) e 9 wkew 2y @ (HUF)
Iy | HUF-R <91 (963 &led W™
7,00,000 Bl |

(iv) IS I[/I FEACRANS, TAGIT A0S
Taxmann Education Society—<= #HEI
80,000 Tt Jfe azH R

(v) 58 B @>Te JFHF FI AE
FO | NS Ford [9me (96T ST vawg
6,00,000 5 |

(vi) IR KA J© 90,000 T |

(vii) ¥ 80C-F THITS (SEF TSI BT
sifR=4 30,000 T | |
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(c) Briefly explain various heads of income.

i {Afoq ATOMER B¢ F141 41 |

(d) Explain the meaning of “Capital Asset”
as per Section 2 (14) of the Income Tax
Act, 1961.

S 2, 19619 411 2 14)@@% ‘:ﬁ&zﬁ’r
Tife” 9 i 4 |

(e) Satish Kumar owns a residential house

property in Mumbai. It is let out to
Anand Ltd. at a monthly rent of
Rs. 40,000. Municipal value of the
property is Rs. 2,20,000 and Fair rent
is Rs. 4,80,000. Anand Ltd. pays
municipal tax. On April 7, 2021, rent is
increased from Rs. 40,000 per month to
Rs. 50,000 per month with retrospective
effect from April 1, 2020. Satish Kumar
gets Rs. 1,20,000 (being arrears of rent
for the financial year 2020-21) on April
20, 2021. |

Find out the net income of Satish Kumar
for the Assessment year 2022-23 on the

assumption that his income from other
sources is Rs. 8,00,000.
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TS AR THIZ-© AF] GBf j2-r~7fes Tfer |
Foifers] Siaw o es Mtzde 40,000
B ©ieie Al (= F=ifed (ol e
2,20,000 5F @ T Siel 4,80,000 5
o | Y FRCeee (o 39 S e | afee
7, 2021 Wi WfEE ©fEl 40,000 T
91 50,000 Bt i T4 T W= Jiaa {251
4 W GfgEg 1, 2020 SifRF #[1 | ke 7
2020-21-F I ©fel f25itel 2021 5 20
P wifrd TS FAE 1,20,000 T AZH
SRR

S TR #F =¥ 8,00,000 % (27 4=
51 2022-23 RRe I99 A TS M PR AFO
i HefRd =01

(/ Ramesh Takalkar, who resides in
Mumbeai, gets Rs. 6,00,000 per annum
asmmbalsicassalacy. - He - receives
Rs. 1,20,000 per annum as house rent
allowance. Rent paid by him 1is

" Rs. 1,00,000 per annum. Find out the
amount of taxable house rent allowance

for the assessment year 2022-23.
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YH2-© PR FF 6 BIFEDE 6,00,000
B 7@ o1 vl fZoiet A | (98 I |
©IG] A5 251791 1,20,000 Bt #iF | IRE (98
1,00,000 5HI(F 99 ©iel SmiA Wed | 2022-
23 R T==CHIE A S FCAS 99 O
5 WeiRs T4 |

(g9 Abhinandan Sukla is a Government
| employee. He gets Rs. 6,00,000 per
annum as basic pay. In addition, he
receives Rs. 72,000 as entertainment
allowance. His actual expenditure on
entertainment for official purposes,
however, exceeds Rs. 75,000. Find the
amount of entertainment allowance that

" he can claim for deduction. |

SIS T GG bIFI] FHOR | (908 IS
6,00,000 &1 wa1gl f251cet #1170 | O 757, (08
72,000 BBl SICAMEES A5 RBICA AT |
IETTI AR, (OCF AP AT IR
75,000 T w4 23 |

ﬁemwm%mﬁwwmﬁ
nid R AT Refg =11 |
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(hj Write a note on the Deductions

available under section 24 1n
connection with income from house

property.
41l 24-3 HAFS TG SRR F6i GiTe
ORI S2FS o1 (B! o7 |

4. Answer any three questions: 10x3=30
fRirercan fofabr e Ted ferdll
(a) Describe the procedure of computation

(b)

of short term and long term capital
gains as per the provisions of the Act.

ZFI] SR WL Torge) oy e siafo

3t =41 |

The following are the particulars of
income of Mr. Narendra Singh,
employed in a private limited company
in Kolkata, for the year ended on 31st
March, 2022 :

(i) Basic Salary : Rs. 90,000 per
month
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(i) Dearness Allowance : Rs. 40,000
per month

(i) Entertainment Allowance :
Rs. 10,000 per month

(iv) Children Education Allowance

including hostel expenditure:

" Rs. 500 per month per child for 2
children

(v) Medical Allowance : Rs. 1,000 per
month

(vi) Transport Allowance : Rs. 2,000
per month

(vii) City Compensatory Allowance:
Rs. 6,000 per month

(viii) Tiffin Allowance : Rs. 5,000 per
month.

Compute his income from salary for
the Assessment Year 2022-23.

FEIIOIS GBI (@AHIFINN AT (ARG TS
A e e 31 Wb 2022 SIS T@H
TROR W R wers A wel e ¢
() I &N 8 WfZE 90,000 5| |
(i) TR A5 ¢ Wifzet 40,000 O |
(iii) WS A6 8 WfZedl 10,000 T |
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(iv) Pis3 Prs s <R gareR 99w ¢ 2feew
e J1Ca WfzeTl 500 T, 7 s A |

(v) BT I 3 TR 1,000 T

(vi) TSRS NG ¢ AZe! 2,000 5 |

(vii) TR FSe=e A5 ¢ WZ=AT 6,000 G |
(viii) B 25 ¢ TZET 5,000 Tt

2022-23 fadige 991 A" (o¢3 TEuE Frewe
g AT =4 |

(c) From the following Profit and Loss Account
of Joy Prakash (Age: 45 years; resident)
for the year ended on 31st March, 2022,
ascertain his Gross Total Income for the
Assessment Year 2022-23: a4
31 Wb 2022 SifFy® @[ I=OIE AE S
AFHE (ITH 45 IR IAFH) oFe W &
CETIFbI f2BioE #i€ 2022-23 ﬁaﬁaﬁ’rw A

c—eaqbwﬁcfﬂw
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Particulars Amount

(FRzad)

(Rs.) (53)

Particulars

()

Amount

(Rs.) (5%)

General Expenses
AR 492

Bad Debts

T 2
Outstanding Income Tax
YATE TR

Insurance ()

Salary to Staff
FHIE TR

Salary to Joy Prakash
G AP v
Interest on Overdralt
wi4aq cofge o
Medical expenses of
Joy Prakash’s ailing
mother

Gy AP P17 Ahed
i 19y

Interest on Capital of
Joy Prakash

G YPE Je4d
8ATS 7O
Depreciation

GqFY

Advertisement Expenditure
fRetom 39R
Contribution to
Employees’ Recognised
Provident Fund

B E RISl
SEETIEGRCIEES)
Net Profit

=S Al

26,800
44,000

4,000

1,200
52,000

1,02,000
8,000
84,000

46,000
96,000
14,000
26,000

5,21,200

Gross Profits
P e
Commission

Brokerage

Sundry Receipts
fafay airfes
Dividend received
on shares
io[aq G7qe Ald
G|
Interest on Debentures
P479q €299 O

8,31,000
17,200
74,000

5,000
22,000

76,000

Total

10,25,200

Totql

10,25,200

4 (Sem-3/CBCS) ITLP HC/RC/G
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Other information :
] ©9 :

() The amount of depreciation
allowable is Rs. 74,300 as per
Income Tax Rules.

SR (AR SRt SRS #{f{e

74,300 5 |

(i) General expenses includes
Rs. 6,800 being the cost of
permanent entrance gate of the
residence of Joy Prakash.

T AT I B AR A%
HLRE TR TIOE (22 6,800 O |

(iii) Joy Prakash pays Rs. 9,000 as
premium on own life insurance
policy of Rs. 1,00,000.

1,00,000 5HR e Gaa I #Afefbs
GoFe TIAFIH 9,000 Gt T Ff®
f25ice siwE e |

(d) State any five items of deductions
. available from Gross Total Income under -
section 80C of the Income Tax Act and

the salient features of this section.
| 5+5=10

4 (Sem-3/CBCS) ITLP HC/RC/G 16 Contd.
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(e)

(f)

(9)

-

ST SR 80C {IAI S 5 SR+ TERCAT
facica #inel JEg o O3 99R [ @HREE
T =49 |

Explain the mode of set off and carry forward
of losses

(.?’ﬂ?fﬁl?ﬁ set off T% carry forward= 7@ I F |

Write short notes on the following :
S+5=10

wote MAARE @«@e 53 (Gl @131 8

() On-line filing of returns of income

T AferaveE SeRs nifeaad

(i) Permanent Account Number

Zq 2ol 991

Ramesh is a citizen of India. From the
information given below, find out the net
income of Ramesh for the assessment year
2022-23 on the assumption that (i) Ramesh
is resident and ordinarily resident in India,
(ii) he is resident but not ordinarily resident
in India, (iii) he is non-resident in India :
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O GG SIFe J5{F | Sere Il SR A
2022-23 R4l 793 AR ICHR oo =g [N
qEAce 4f€tE (@ (1) IO 9T AT S R
A, (i) I GE AT e AaEe i a5,
(i) IC Q& - 8

Interest on fixed bank deposit in Punjab
National Bank, Guwahati Rs. 6,000,000

R0 2GR T ([ Z ST TS O
6,00,000 5D

Income from agricultural operations in Nepal
(the entire amount is directly received in
Nepal and later on remitted to Iran for
investment purposes, however, no income
1s generated during the year out of this
investment)

(Agricultural operations are controlled
from India by a team of professionals)
Rs. 12,00,000

H{leTe FRETS Tese #€1 S (F{feT SGREE
S A (RIS A= R I 210600 Ao =,
SR ILROE foode Te RN «@ @it =iEe
Tesife 21 H13) |
(FRGTS ISR @61 (HMIST 719 2l SIeadd
91 RaE <91 =7) 12,00,000 5 |
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Salary from UNO Rs.18,00,000
AFATE 21 el vl 18,00,000 Gl

Income from house property situated in -
Chennai (rent received in Sri Lanka but on
the next day, it is remitted to India)
Rs. 9,10,000

FAIES SRS TR S W (SrSl AeTe
olie) 27, e P, T vl seIcE il =)
9,10,000 Bl

Pension received in London (service was

rendered in India with a foreign country)
Rs. 80,000

oo 2AG (o6 (951 Rop BT IR SIS
Gl SeRCEIRT (2fE) 80,000 G

(h) Brieﬂy-éxplain any five forms of Return of
Income.

Y AT ﬁm-_f*ﬁb‘ﬁ‘fmfssfc‘a IR |
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